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Practice A

Solving Two-Step and Multi-Step Inequalities

Fill in the blanks to solve each inequality.


1.
2x ( 5 ( 7
2.
(3(k ( 1) ( 15
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Solve each inequality and graph the solutions.
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Write and solve an inequality for each problem.


8.
Ted needs an average of at least 70 on his three history tests. He has 
already scored 85 and 60 on two tests. What is the minimum grade 
Ted needs on his third test?


9.
A VHS tape holds at most 360 minutes. A tape already has a 
120-minute movie on it. How many 30-minute sitcoms can be 
recorded on the remaining tape?

 Practice B

Solving Two-Step and Multi-Step Inequalities

Solve each inequality and graph the solutions.
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Write and solve an inequality for each problem.


9.
A full-year membership to a gym costs $325 upfront with no monthly 
charge. A monthly membership costs $100 upfront and $30 per month. 
For what numbers of months is it less expensive to have a monthly membership?


10.
The sum of the lengths of any two sides of a triangle must 
be greater than the length of the third side. What are the 
possible values of x for this triangle?

Original content Copyright © by Holt, Rinehart and Winston. Additions and changes to the original content are the responsibility of the instructor.


1
[footer copy]

2 
Copyright © by Harcourt Achieve and Stephen Hake. All rights reserved.
Saxon Math Course [#] 

Original content Copyright © by Holt McDougal. Additions and changes to the original content are the responsibility of the instructor. 



Holt McDougal Algebra 1


_1139680562.unknown

_1139751437.unknown

_1140291400.unknown

_1140291406.unknown

_1139751445.unknown

_1139680578.unknown

_1139680570.unknown

_1139680466.unknown

_1139680476.unknown

_1139680539.unknown

_1139680421.unknown

